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Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following : 1x8=8
CERTAINS Ueq fert ¢

(a) State the main difference between a
' parameter and a statistic. '

AIbe] SIS ST 24 2NLRCor T |

(b) For the following data, obtain the value
of the mode :

o9 OAEIE ITTF NN [y 71 ¢
54 65 55 65 53 54 51 57 65 53
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(d)

(e)

(9)

Distinguish between Simple Arithmetic
Mean (SAM) and Weighted Arithmetic
Mean (WAM).

FIe] AT T[] O SIS T A9 AL
e

“Index numbers reflect weights of
different commodities.”

(Write True or False)

“Ip AR [ieq AR oiF afewle sE 1

(551 ¥ ¥ &)

Financial Dualism implies the
-coexistence of and .
(Fill in the blanks)

e msam 5 e P EEQ

Define disguised unemployment.

TN R et o

The HDI 2010 is the GM/AM of =X p&#

normalised indices.
(Choose the correct option)

HDI 2010 WWW GM/AM |
(w7 Tesch! IR Clered)
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(h) Economic growth is a broader/narrower
concept than economic development.
(Choose the correct option)

wefios g 2o S Rerers 1/ 0%
G el | (&meo! TR Cle)

2. Answer any six from the following

questions : ' 2x6=12
oo [ RF5T esN T R ¢

(@) Point out two main differences between
: primary and secondary data.

Sl S (T O 70 e A1y T

(b) Explain briefly the method of stratified
random sampling.

wSpo Uoe elfons] AGSCB! HJCE I B |

(c) Mention two uses of the cost of living
index number. :

ﬁwm%mwawﬁww®|

(d) Mention the significance of purchasing
power parity.
e IO SIeeRy Tl
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(e) Define ‘Sustainable Deifeloprnen_t’.
R TS e ol |

(/) What is demographic dividend ?
SRR Erelee e :

(g)_ Write any two demographic features of
India.
SIS Rl 75 Gelfes @R )
(h) What is meant by a Financial System ?

ReR <z e 5 gamme

- - . - - ‘(\O
(i) Distinguish between money market and é

qmwwwmm«mwml

() Define agricultural labour households.

FRAET «fi AifRaem e fs)

3. Answer any four from the following :
' S5x4=20

o9 AR Ricspieer bifSoT e e

(@) From the following table, calculate the

median marks obtained by the
students.

BO2FN 0017 4
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gRCIEEI
Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
m - .
No. of Students 2 3 11 0| % | B T

PSR |

(b) What is an index number ? What are
its main features ?

W5 A< {2 TN e QTR [ e

4l 8

2+3=5

Calculate cost of living index number
from the following data :

o OEIRT AN GRA GRS T P ol

Price (73) | Rs. (3) | Weights (Er9)
2010 2020
Food (per kg 20.00 24.00 4
47 (ofo @)
Cloth (per meter) 1.25 1,50 3
AR (2 FR) ;
Rent (per room) 5.00 8.00 - 2
wigl (ofo (71
Miscellaneous (per unit) 2.00 2.00 ]
i (3o 639) 5
S Contd.
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(d) Why is PCI not a good index of
economic development ? Discuss.

PCI G(oF R @ ©IF 365 [ 77a 2
S 1|

4. Answer any two from the following

questions : 10x2=20

©F eHIEIRE SR Reee §he Oed el 8

(a) What does a measure of dispersion
indicate ? Name the different measures

of dispersion. For the following data,

(e) Differentiate between economic growth
and economic development.

S 3 oI Sl R =A< Bt | obtain the value of the variance.
e y 1+2+7=10
() Highlight the components of a financial :
system. RibeTT e 6 @ 2 Roaa TR =t o |
o SRR A [Rogae s e |
€T TR SAERE o3 Raset |
: Age Group 5-7 | 8-10 | 11-13 | 14-16 | 17-19
(g) Mlustrate the key elements of a well- Rl
tetoginsifinanciall systom. No. of Students| 10 8 i 3 2
PRI RS <2 3T SeAActa 9ol <4 | | 3 R

(h). Explain the sector-wise composition of () Examine the relative merits and

India’s GDP. How does this sectoral

composition affect overall economic

demerits ‘'of complete enumeration and

sample survey. Explain briefly the
principal steps taken in a sample

growth ? 340=5 '
: \§ ) 5+5=10
OIS GDP-1 Q@519 o i<y a1 | Qesi© survey
el el i eiford TR e R

M e et weteifom qfirs e
coleTg 2 ;
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(c) What are the essential components of
HDI ? Explain the method of calculating

HDI. " 4+6=10
 HDI-¥ grieE wisiEis & e HDI sidae
simte G F |

(d) Discuss the trend of national income
and per capita income of India. Analyse
the factors influencing the growth rate
of national income and its implications
for economic development. 4+6=10

IOEICERCSIRAS RAC GRS A HE R SIAC (G| T}
T | SIS SIS AR (PR FIRFEAR Resel
3 OE ST [oMe CRERT FKERdel
i1 4 |

(e) Discuss the role played by financial.
system in the functioning of an

€conomnyy.
G wdIfey FRfwRee [KEn agE o
gt 4 | ‘
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